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Py=12*2"R=502*100*2"10° =5 W;
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{ TINA Interpreter }
I:=V/(R+2*R);
P1:=I*I*R;
P2:=2*R*I*|;
PV:=-1*V;
P1=[2.5]
P2=[5]

PV=[-7.5]
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P, =~ 1%V, = ~10%120 = —1.2kW

{ TINA Interpreter }
V:=I*Replus(R1, R2);
V=[120]
11:=1*R2/(R1+R2);
11=[4]
12:=1*R1/(R1+R2);
12=[6]
P1:=R1*sqr(I1);
P1=[480]
P2:=R2*sqr(12);
P2=[720]

Ps:=-V*[;

Ps=[-1.2k]
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{ TINA Interpreter }
I:=Vs/(R1+Replus(R2,R2));
I=[1]
P5:=I*I*R1;
P5=[5]
4 oM

{ TINA Interpreter }
Ir:=1*R/(R+R1+replus(R2,(R3+Rl)))*R2/(R2+R3+RlI);
Ir=[1.25m]

PRI:=sqr(Ir)*RI;

PRI=[125m]



